| Efficiency vs Dxy |
> 0.2
1% r : : : : : : :
O | N N N N N N N

0 0,18 P e e e
< S A S

R H s S s
Q L : : : : : : :

2 0.14p e o A o S
02

C : : : & : : :
I R e e S S s A

eff

[
||||p|||

.................................................................

Ratio

[=Y
TTTTTTTT]

090156 =10 =5 0 5 10 15 20

TP dxy (cm)

—e— DQM”pixelCPETemplate_step2 ttbar-phasel-newgeom
| Efficiency vs Dz | —— DOM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

—— D

—a— U§IVI o_riginal SIEPZ_TDar-pndase L-mewgeom

M”pixelCPETemplateCutChiSquareNew?Z_step?Z_ttbar-phasel-newgeom

0.2 —— DQM™pixel CPETemplateCutChiSquareNew3 step2_ttbar-phasel-newgeom
N . T ; T X X
© N N N N N

CJORTS SRS NS S M ——
) C 5 5 5 : :
§ OB
(&) - B B H H H
£0.14 Froenreree Frorreneenes frorereees A
o 5 5 5 5 5
0.12F
0.1F

0.08}

0.06F : : : : :
Q.04
0,00

PRI ST S SN ST S SN N S T NN M 1 A RS S B N M
. 5 T .

At [

Ratio
[EEY
o
Ol
IIIIIIIIIIII TTT
EE
=
o
.....H."T.. ..
B
L ————
-

0 0 10 20 30
TP dz (cm)



	Contents
	Page 1


